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I. Phonetics (10 points)

Directions: In each of the following groups of words, there are four underlined letters or
combinations marked A, B, C and D. Compare the underlined parts andidentify the one that
is different from the others in pronunciation. Mark your answer by blackening the
corresponding letter on ANSWER SHEET 1.

1.A. machine B. headache C. chemistry D. character
2.A. piece B. receive C. relief D. scientist
3.A. engine B. end C. envelope D. effect
4.A. machine B. attention C. major D. China
5.A. gave B. save C. salad D. hate

6.A flood B. books C. other D. double
7.A. industry B. satisfy C. apply D. deny
8.A. fork B. forward C. fortunately D. forbid
9.A. chase B. stomach C. snatch D. teach
10.A. map B. swan C. cat D. lamp

II. Vocabulary and Structure (40 points)

Directions: There are 40 incomplete sentences in this section. For each sentence there are
four choices marked A, B, C and D. Choose one answer that best completes the sentence and
blacken the corresponding letter on ANSER SHEET 1.

11. He didn’t keep on asking me the time any longer as he had had his watch
A. to repair B. repaired C.repairing D. repair

12. The square in front of the supermarket is so limited that when going there, first of all, you

should consider  your car.

A. parking B. where to park C. to park D. where parking
13. His eyes shone brightly when he finally received the magazine he

A. had long been expected B. had long expected

C. has long expected D. was long expected
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14. “Thank you for a wonderful meal.”

13 ”»

A. No, really, it’s all right B. Thank you all the same

C. The same to you D. I'm glad you enjoyed it
15. The waiter was made to the guest.

A. apologize B. apologizing C. to apologize D. to be apologizing
16. The factory has done good honour to the government and the people around so that visitors
come to it

A. in number B. in larger numbers C. to the number D. by number

17. “Do you mind if I take this seat?”

13 ER]

A. No, I don’t B. Yes, do as you please
C. No, do as you please D. Of course, I’d like to
18. We won’t give up we should fail ten times.
A. even if B. since C. whether D. until

19. “Would you like to see a play with us?” “

A. Yes, I like B. No, I wouldn’t

C. No, I don’t like D. Of course, I’d like to
20. He looked quite healthy though he was

A. in seventy B. in his seventy C. at seventies D. at the age of seventy
21. It is to be invited to speak here.

A. good manners B. an honour

C. apride D. a respect
22. “May I use your dictionary?” ”

A. Of course, here you are B. Sorry, you may not

C. Yes, here we are D. Certainly, use it, please
23. China is a developing country , we all know .

A. as B. for C. since D. because
24. His “Selected Poems” in 1955.

A. was first published B. were first published

C. has been first published D. had first been published
25. he goes, she will go, and she never cares happens.

A. Wherever, what B. Wherever, that

C. a great deal of, plenty of, it D. Where, What

26. To the sea captain’s surprise, he found that travel could also be quite pleasant.
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A. earth B. land C. ground D. plain
27. Two weeks allowed for making the necessary preparations.

A. was B. were C. are D. have been
28. She is always the first to school.

A. coming B. to come C.to have come D. having come
29. It was 12 o'clock _the plane took off.

A. when B. that C. since D. till
30.  , Mr. Brown saw the washing machine which had been repaired go wrong again.

A. To his surprise B. It was surprised

C. Surprising D. Losing, bought.
31. The roof fell he had time to dash into the room to save his baby .

A. after B. as C. before D. until
32. Although he is considered a great writer,

A. his works are not widely read B. but his works are not widely read

C. however his work is not widely read D. still his work is not widely read
33. An expert, together with some assistants, to help in the work.

A. were sent B. are sent C. was sent D. have been sent
34. The three children looked after their sick mother

A. in return B. by turn

C.in turn D. being done
35. Tom went out to play with his homework

A. done B. to do C. doing D. being done
36. Not until the whole thing to him_ that he was wrong.

A. had I explained, he realized B. had I explained, that he realized

C. I had explained, that he realized D. I had explained, did he realize
37. As they were asleep, of them heard the sound .

A. all B. both C. any D.none
38. Her brother has found his bike, ?

A.isn’t he B.ishe C. wasn’t he D. hasn’t he
39. Tom insisted to the party.

A. on me to come B. on my coming C. me to come D. me coming
40. We enjoy very much, because it is good to our health.

A. swim B. to swim C. swimming D. to be swimming

41.His mother told him to put the books in the box .

A. away B. on C.up D. down
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42. Please open the window, ?

A. can’t you B. aren’t you C. do you D. will you
43. Would you please tell the airport ?

A. how I can get to B. how can I get to

C. where I can get to D. where can I get to
44. He has done everything what I asked him not to do .

A. beside B. besides C. except D. accept
45. The teacher apologized late .

A. to his students to arrive B. to his students for arriving

C. at his students to arrive D. at his students for arriving
46. More than 90 percent of the watches on sale ourselves.

A. are made of B. are made up of C. is made by D. are made by
47. Every means tried but without much result.

A. has been B. have been C.are D.is
48. My brother while he his bicycle and hurt himself.

A. fell; was riding B. fell; were riding

C. had fallen; rode D. had fallen; was riding
49. Neither Bill nor his parents at home.

A.is B. are C. has D. was
50. All that can be done

A. has been done B. have been done C. have done D. has done

III. Cloze (20 points)

Directions: For each blank in the following passage, there are four choices given below and
marked A, B, C and D. Choose the one that is most suitable and mark your answer by
blackening the corresponding letter on ANSWER SHEET 1.

Most children with healthy appetites are ready to eat almost anything that is offered them and
a child rarely dislikes food__51 it is badly cooked.

The way a meal is cooked and served is most important and__52 served meal will improve
a child's appetite. Never ask a child__53 he likes or dislikes a food and never discuss likes and
dislikes in front of him or allow__54 else to do so.

If the father says he hates fat meat or the mother refuses vegetables in the child's hearing he is

55 to copy this procedure. Take it 56 Granted that he likeseverything and he probably will.

Nothing healthful should be omitted for the mealbecause of a supposed dislike. At meal times it is
a good idea to give a child a small portion and let him come back for a second helping rather than

give him as__ 57
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as he is likely to eat all at once. Do not talk too much to the child 58 meal times, but let him
get on with his food, and do not allow him to leave the table immediately after a meal or he will soon
learn to swallow his food so he can hurry back to his toys. Under_ 59 circumstances must a child

be coaxed_ 60 forced to eat.

S51.A.if B. until C. that D. unless
52.A. adequately B. urgently C. eagerly D. attractively
53.A. whether B. that C. What D. which
54.A. somebody B. everybody C. anybody D. nobody
55.A. willing B. possible C. possible D. likely
56.A. with B. as C. over D. for

57.A. little B. few C. much D. many

58. A.no B. during C. over D. by
59.A.no B. some C. any D. such
60.A.nor B. but C. neither D. or

IV. Reading Comprehension (60 points)

Directions: There are four reading passages in this part. Each passage is followed by
five questions. For each question there are four suggested answers marked A, B, C and D.
Choose the best answer and blacken the corresponding letter on ANSWER SHEET 1.

Passage one

Valencia is in the east part of Spain. It has a port on the sea, two miles away from the coast. It
is the capital of a province that is also named Valencia.

The city is a market centre for what is produced by the land around the city. Most of the city's
money is made from farming. It is also a busy business city, with ships, railways clothes and
machine factories.

Valencia has an old part with white buildings, colored roofs, and narrow streets. The modern
part has long, wide streets and new buildings. Valencia is well known for its parks and gardens. It
has many old churches and museums. The University in the centre of the city was built in the 13th
century.

The city of Valencia has been known since the 2nd century. In the 8th century it was the
capital of Spain. There is also an important city in Venzuela (ZHIHHI) named Valencia.

61. From the text, how many places have the name Valencia?

A. One B. Two C. Three D. Four
62. What is the main difference between the two parts of the city?

A. The colour of the buildings
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B. The age of the buildings
C. The colour of the roof
D. The length of the streets.

63. When was Valencia the most important city in Spain?

A. 2nd century B. 8th century
C. 13th century D. 20th century
64. What is Valencia famous for?
A. Its markets B. Its university
C. Its churches and museums D. its parks and gardens

65. The main income of the city of Valencia is from its
A. markets B. business

C. factories D. farming
Passage two

I had just gone to bed after a very hard day when the phone rang. It was an eccentric farmer. |
had never met him before although I had heard people talk about him. He sounded quite nervous
and he had been talking for a minute or so before

I understood anything. Even then all I could make out was that someone called Milly had
had a very accident. I hadn't the slightest idea who she was but I obviously hadto go.

It had been snowing heavily that day and I didn't know the way. I had been driving for at least
an hour when I finally found his place. He was standing there, waiting for me. “She meant more to
me than anyone ...even my own wife! * he said.

I could see that he had been crying. I thought something terrible had taken place, a possible
scandal. I was even more shocked when he told me he had put her in thebarn(Jgt). “I wouldn't leave
her out in the cold! ” He said.

Milly had clearly been a secret lover of his. I was about to tell him he could not expect me to
cover anything up when he opened the barn door. He lifted his candleand I saw a dark figure on the
ground. “She was such a good cow! I wouldn't letany one but a doctor touch her! ” He said, and
burst into tears again.

66. The underlined phrase “ make out” in the first paragraph means

A. expect B. see clearly
C. here clearly D. understand
67. Before he arrived at the farmer's house, the writer expected to see Milly lying 7
A. on the floor of a room B. on the ground of a barn
C. in bed in a barn D. in bed in a room

68. What do we know about Milly from the story?

8
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A. She was seriously ill. B. She was hidden somewhere.
C. She had met with an accident. D. She had caused a scandal.

69. The farmer wished that the writer might
A. bring Milly back to life B. keep the whole things a secret
C. look into the matter D. free him from a scandal

70. The person who told the story is probably a
A. policeman B. farmer

C. newspaper reporter D. country doctor
Passage three

Feeling tired lately? Has the doctor said he cannot find anything wrong with you? Perhaps
he sent you to a hospital, but all the advanced equipment there shows that there is nothing wrong.

Then consider this, you might be in a state of subhealth. Subhealth, also called the third state
or grey state, is explained as a border line state between health and

disease. According to an investigation by the National Health Organization, Over 45percent
of subhealth people are middle aged or elderly. The percentage is even higher among people who
work in management positions as well as students around examtime.

Symptoms include a lack of energy, depression, slow reactions, insomnia, agitation and poor
memory. Other symptoms include shortness of breath, sweating and aching in the waist and legs.

The key to preventing and recovering from subhealth, according to some medical experts, is
to form good living habits, alternate work with rest, exercise regularly, and take part in open-air
activities.

As for meals, people are advised to eat less salt and sugar. They should also eat more fresh
vegetables, fruits, fish, because they are rich in nutritionalelements-vitamins, and trace elements
— that are important to the body.

Nutrition experts point out that it is not good to eat too much at one mealbecause it may
cause unhealthy changes in the digestive tract. They also say that abalanced diet is very helpful in
avoiding subhealth.

71. According to this passage, which of the following is right?

A. When you are in a state of subhealth, you should go to see a doctor and buy some
medicine.

B. When you are in a state of subhealth, you should stay home and keep silent.

C. When you are in a state of subhealth, you should find out the reasons and relax yourself.

D. When you are in a state of subhealth, you should have yourself examined in foreign
countries.

72. Middle-aged people may feel subhealth, because .

9
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A. they have lost their living hopes
B. they have more pressure in life and work
C. they have used up their energy.
D. they begin to get energy
73. The answer for preventing you from falling into a state of subhealth is
that you should .
A. work hard
B. sleep more
C. take more medicine
D. be deep relaxed and form good living habits
74. As for food, experts suggest that
A. we should eat less
B. we should never eat meat
C. we should have meals with less salt and sugar
D. we should have meals without salt or sugar
75. The underlined word “alternate” in this passage means
A. keep up B. take up

C. arrange by turns D. cause to take place
Passage Four

Equal pay for equal work is a phrase used by the American women who feel that are looked
down upon by society. They say it is for women to be paid less than men for the same work People
who hold the opposite opinion (mainly men) have an answer to this. They say that men have
more responsibility than women; a married man is expected to earn money to support his family
and to make the important decision, and therefore it is right for men to be paid more. There are
some people who hold even stronger opinion than this and are against married women working at
all. When wives go out to work, they say, the home and children are given no attention to. If
women are encouraged by equal pay to take full time job, they will be unable to do the things.
Women are best at making a comfortable home and bringing up children. They will have to give
up their present position in society.

This is exactly what they want to give up, the women who disagree say. They want to escape
from the limited place which society expects them to fill and to have freedom to choose between a
job and home life, or mixture of the two. Women have the right of equal pay and equal
opportunities.

These women have expressed their opinions forcefully by using the famous saying, “All men

are created equal.” They point out that the meaning of this sentence is “all human being are

10
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created equal.”
76. The women use the phrase “equal pay for equal work” to demand that
A. woman's work shouldn't be harder than men's
B. men should be paid less than women
C. people doing harder work should earn more
D. men and women should be paid the same amount of money for the same work
77. What exactly do the women who disagree want to give up?
A. Their job
B. Their home life
C. Their right to pay
D. Their present position in society
78. People who disagree with women's opinions believe
A. women can't do what men can
B. men can earn money more easily than women
C. men's responsibilities are different from women's
D. men have to work much harder than women
79. The women use the saying “all men created equal” to show that
A. the position of women has changed a little in modern time
B. in American society men and women should in modern time
C. men's right are always considered more important than women's
D. men and women had equal power in early American society
80. The women who disagree say that
A. if women are given equal pay, their opportunities will be greater
B. women are no longer interested in taking care of their homes
C. women want more freedom in deciding the kind of life they live

D. women need opportunities to go out of the house more often
V. Writing (20 points)

Directions: For this part, you are allowed 20 minutes to write a passage of about 100 words
based on the following situation. Remember to write it clearly on ANSWER SHEET I1.

LAT AN Y B B AT IR 2 4 Ak

247 NN H B B A A AR 2 AN 2 Ak

3ARMMETLAE. ...

11
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MESEZHHERBEANFER

RIEFEMAE (—) SEER

I . phonetics(10 points; one point each)

1.A 2D 3D 4C 5 6B

7.A

II. Vocabulary and Structure (40 points; one point each )

11.B 12.B 13.B 14.D
20.D 21.B 22. A 23.D
29.A 30.A 31.C 32.A
38.D 39.B 40.C 41.A
47.A 48.A 49.B 50.A
OI. Cloze (20 points)
51.D 52.D 53.A 54.C 55D

IV. Reading Comprehension (60 points)

61.C
71.C

62.B
72.B

63.B
73.D

64.D
74.C

65.D
75.C

V. Writing (20 points)

S

Some people think that there are a lot of advantages to study abroad . Firstly, we can learn
the native language more easily and more rapidly while in the country. Secondly, many foreign

universities can offer better studying conditions and have more advanced teaching equipment.

8.D 9B 10.B
15.C 16.B 17.C 18.A 19.D
24.A 25.A 26.B 27.A 28.B
33.C 34.A 35.A 36.D 37.D
42.D 43.A 44.C 45.B 46.D
56.b 57.C 58B 59A  60.A
66.D 67.D 68.C 69.A 70.D
76.D 71.D 78.C 79.B 80.C

Going Abroad to Study

Thirdly, going abroad can take us to a new environment with different culture and customs.

However, some people believe that it isn't worth while to study abroad . For example, the

tuition and living expenses are expensive. Moreover, being far away from our mother country, we

may feel lonely.

My view is that going abroad has more advantages than disadvantages. So it is advisable to

study abroad.

12
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I. Phonetics (10 points)

Directions: In each of the following groups of words, there are four underlined letters or
combinations marked A, B, C and D. Compare the underlined parts and identify the one
that is different from the others in pronunciation. Mark your answer by blackening the
corresponding letter on ANSWER SHEET 1.

1. A. club B. tomb_ C. comb_ D. climb

2. A. food B. cool C. school D. flood

3. A. town B. how C. down D. snow

4. A. each B. peach C. break D. deal

5. A. hear B. fear C. dear D. bear

6. A. receive B. friend C. field D. piece

7. A. question B. notion C. exception D. vocation
8. A. exhaust B. exercise C. exam D. exact

9. A. where B. what C. whose D. white
10. A. switch B. hatch C. character D. match

II. Vocabulary and Structure (40 points)

Directions: There are 40 incomplete sentences in this section. For each sentence there are
four choices marked A, B, C and D. Choose one answer that best completes the sentence and
blacken the corresponding letter on ANSER SHEET 1.

11. Today is Jenny's wedding day. She to Thomas.
A. just has got married B. has just married
C. was just married D. has just got married
12. Every officer and every soldier obey the rules.
A. had to B. have to
C. has to D. must have to
13. Rarely so difficult a problem.
A. she could have faced with B. could have she faced with
C. she could have been faced with D. could she have been faced with
14. a dog on the road, the car stopped.
A. Having seen B. On seeing
C. The driver seeing D. Seeing

15. I asked my teacher
A. what courses should I take B. should I take what courses

13
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C. I should take what courses D. what courses I should take
16. Comrade Li promised to help us and he said he would come

A. right away B. all at once
C. all of a sudden D. all right
17. There aren't many pandas in the world today.
A. alive B. living C. lively D. lived
18. Such electron tubes in a radio set are also found in a TV set.
A. that we use B. as we use
C. as we use them D. that we use them
19. 1t to me that he was jealous.
A. happened B. took C. occurred D. felt
20. One of the requirements for a fire is that the material to its burning temperature.
A. were heated B. must be heated C. is heated D. be heated
21. Please me at the station on time.
A. meeting B. to meet C. meet D. met
22. "hello", he reached out his hand.
A. Said B. Saying C. To say D. Say
23. People are more to spend money on goods with an attractive look than those without.
A. attracted B. tempted C. persuaded D. tended
24. It was he saw the doctor coming out of the emergency room with an expression as
grave as a judge he realized the seriousness of his wife's illness.
A. not until...that  B. after...when C. until...then D. before...that
25. Please telephone me half an hour
A. in charge B. in advance C. in time D. in front
26. Both Mary and Ellen, as well as Jan, studying Chinese History.
A. are B.is C. are being D. is being
27.1'dliketo ___ him to you for the job. He is a very clever and industrious boy.
A. refer B. suggest C. recommend D. propose
28. 1t that 200 people died and over 5, 000 lost their shelters after the flood.
A. reported B. reports C. has been reported  D. has reported
29. He was asked to speak louder all the other students in the classroom could hear him.
A. as B. soas to C. so that D. so as

30. His report on the space exploration was really
A. exciting B. excited C. excitement D. excitedly

31. Your chair needs

A. to repair B. repairing C. to repairing D. being repair
32. I hate to see papers in pencil.

A. writing B. to write C. written D. write
33. The job made her dependent her husband.

A.on B. from C.of D. to

14
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34. This is the second time she improvement on that equipment.
A. had made B. made C. is making D. has made
35. He spoke so quickly that I did not what he said.
A. catch B. accept C. take D. listen
36. determines a good meal varies from country to country?
A. What B. That C.It D. Which
37. As the journey was a long one, he took a friend with him for
A. pleasure B. entertainment  C. company D. defence
38. I suggest for an outgoing this Sunday.
A. us going B. we are going  C. to go D. our going
39. We've sugar. Ask him to lend us some.
A. run away with  B. run down C. run off D. run out of
40. It was in 1930 he became a university student.
A. when B. that C. which D. and
41. 1 am very to you for your help.
A. grateful B. agreeable C. pleased D. thanks
42.You go now. It's very late.
A. had rather B. prefer to C. had better D. would rather
43. If I were you, [ would take it easy, is no need to be nervous.
At B. this C. there D. which
44. Why not me earlier?
A. to tell B. tell C. telling D. told
45. Joe's handwriting is Mary's.
A. more better B. as well as
C. much better than D. more better than
46. The experiment the discovery of a cure for cancer.
A. happened to B. led up C. resulted in D. setup
47. To produce one pound of honey, a colony of bees must fly a distance to twice around
the world.
A. similar B. equal C. compared D. corresponding
48.1did not mean ____ anything, but those apples looked so good I couldn't resist one.
A.toeat...trying  B. to eat...to trying C. eating...to try D. eating...to trying
49. I had hardly sat down he stepped in.
A. when B. that C. until D. after

50. In his time he enjoyed a reputation
A. as great as Mozart, if not greater than
B. as great as, if not greater than, Mozart
C. as great, if not greater, as Mozart
D. greater, if not as great as Mozart

15
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III. Cloze (20 points)

Directions: For each blank in the following passage, there are four choices given below and
marked A, B, C and D. Choose the one that is most suitable and mark your answer by
blackening the corresponding letter on ANSWER SHEET 1.

Robert Edwards was blinded in a traffic accident. He was also a little deaf 51 old age.
Last week, he was taking a walk near his home when a thunderstorm came. He hid__ 52 the
storm under a big tree and was struck by lightning. He was knocked_ 53 the ground and woke
up some 20 minutes__54 , lying face down in water below a tree. He went into the house and lay
down in bed. A short time later, he awoke; his legs felt_ 55 and he was trembling, but, when he
opened his eyes, he could see the clock across the room fading in and out in front of him. When
hiswife entered, he_ 56 her for the first time in nine years. Doctors_ 57 that he had regained
his sight and hearing obviously from the flash of lightning, but they wereunable to explain that. The
only_ 58 explanation offered by one doctor was that, _ 59 Edwards lost his sight as a result of

trauma in a terrible accident, perhaps the only way it could be restored was by__ 60 trauma.

51. A. because B. because of C.as D. since
52.A. from B. away C. against D. contrary
53.A. at B.in C.to D. on

54.A. late B. soon C. later D. after
55.A. dying B. dead C. die D. being died
56.A. saw B. watched C. noticed D. examined
57.A. say B. thought over C. made sure D. agreed to
58.A. possibly B. possible C. probably D. mainly
59.A. although B. because of C. even though D. since
60.A. others B. other C. another D. one other

IV. Reading Comprehension (60 points)

Directions: There are four reading passages in this part. Each passage is followed by five
questions. For each question there are four suggested answers marked A, B, C and D.
Choose the best answer and blacken the corresponding letter on ANSWER SHEET L.

Passage One

In ancient times wealth was measured and exchanged in things that could be touched: food,
tools, and precious metals and stones. Then the barter system was replaced by coins, which still
had real value since they were pieces of rare metal. Coins were followed by fiat money, paper
notes that have value only because everyone agrees to accept them. Today electronic monetary
systems are gradually being introduced that will transform money into even less tangible forms,
reducing it to a series of "bits and bytes", or units of computerized information, going between
machines at the speed of light. Already, electronic fund transfer allows money to be instantly sent
and received by different banks, companies, and countries through computers and

telecommunications devices.
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61. Which of the following would be the most appropriate title for the passage?

A. International Banking Policies

B. The History of Monetary Exchange

C. The Development of Paper Currencies

D. Current Problems in the Economy
62. According to the passage, which of the following was the earliest kind of exchange of
wealth?

A. Bartered foods B. Fiat money

C. Coin currency D. Intangible forms

63. The author mentions food, tools and precious metals and stones together because they are all

A. useful items B. articles of value
C. difficult things to obtain D. material objects
64. According to the passage, coins once had real value as currency because they
A. represented a great improvement over barter
B. permitted easy transportation of wealth
C. were made of precious metals
D. could become collector's items
65. Which of the following statements about computerized monetary systems is NOT supported by
the passage?
A. They promote international trade.
B. They allow very rapid money transfers.
C. They are still limited to small transactions (3 % ).

D. They are dependent on good telecommunications systems.

Passage Two

At the University of Kansas art museum, scientists tested the effect of different colored walls
on two groups of visitors to an exhibit of paintings. For the first groupthe room was painted
white; for the second, dark brown. Movement of each groupwas followed by an electrical
equipment under the carpet. The experiment showedthat those who entered the dark brown walked
more quickly, covered more area, and spent less time in the room than people in the white one.
Dark brown madepeople more active, but the activity ended sooner. Not only the choice of colors
butalso the general appearance of a room affects those inside. Another experimentpresented
people with photographs of faces whose energy was to be commented.

Three groups of people were used; each was shown the same photos, but each

group was in an ordinary room-a nice office. The third was in a tastefully designedliving
room with carpeting. Results showed that the people in the beautiful room tendto give higher
marks to the faces than those in the ugly room did. Other studies thatstudents do better on tests

taken in comfortable room than in ordinary-looking orugly rooms.
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66. Which of the following is the best expression of the main idea of this passage?
A. People in beautiful rooms tend to give higher marks to photos of faces than people in ugly
rooms
B. The color and general appearance of a room have a deeper effect on the behavior of the
people in it
C. The University of Kansas has studied the effects of the color of room on people's behavior
D. Beautifully furnished, light-coloured rooms make people more comfortable than ugly, dark
rooms
67. According to the passage, we may conclude that the whiter a room is
A. the longer people like to stay in it B. the sooner people in it will leave
C. the more active people in it will become D. the more excited people
68. What is referred to as the "general appearance" in this passage is
A. how many broad windows a room has, through which sunlight might come in
B. the size of a room
C. whether there are beautiful walls in a room
D. what the room looks like
69. This passage provides us with
A. apiece of scientific information B. a normal lesson
C. an interesting test D. a piece of news
70. At least how many tests were carried out by the scientists referred to in this passage?
A. Three B. Two C. Only one D. No one knows

Passage Three

The water we drink and use is running short in the world. We all have to learn how to stop
wasting our limited water. One of the steps we should take is to find ways of reusing it.
Experiments have already been done in this field. Today in most largecities, fresh water is used
only once, then it runs into waste system. But it is possible to pipe the used water to a purifying
factory. There it can be filtered and treated with chemicals so that it can be used again, just as it
were fresh from a spring. But even if every large city purified and reused its water, we still would
not have enough. Then we could turn to the oceans. All we'd have to do to make use of the
seawater on earth is to get rid of the salt. This process is called desalinization, and it is already in
use in many parts of the world.

71. The way to stop wasting our limited water is to
A. do experiments with water B. purify the used water and reuse it
C. use fresh water once again D. make use of seawater
72. The following tells us how to reuse the used water. Which is the right order of the passage?
1. to put chemicals in it and treat it
2. to pipe the used water to a purifying factory
3. to have the used water filtered
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4. to pipe it to the users

A.2-3-14 B. 1-2-3-4 C.2-4-1-3 D. 3-2-14
73. There wouldn't be enough water for us if we didn't

A. turn to the oceans for more water

B. reuse used water and make use of seawater

C. desalt seawater

D. take steps to reuse all water on earth
74. The word "it" in the last sentence refers to

A. seawater

B. purified water

C. the process of getting rid of the salt in seawater

D. the process of collecting salt from the sea oceans
75. The best title for the passage is " "

A. How to Reuse Water

B. Two Solutions to the Problem of Water Shortage

C. Stop Wasting Our Limited Water

D. How to Make Use of Seawater

Passage Four

Some people hate everything that is modern. They cannot imagine how anyone can really like
modern music; they find it hard to accept the new fashions in clothing; they think that all modern
painting is ugly; and they seldom have a good word for the new buildings that are being built
everywhere in the world. Such people look forperfection in everything, and they take their
standards of perfection from the past.

They are usually impatient with anyone who is brave enough to experiment with new or to
express himself or the age in materials original ways. It is, of course, true that many artists do
not succeed in their work and instead produce works that canonly be considered as failures. If the
work of art is a painting, the artist's failureconcerns himself alone, but if it is a building, his failure
concerns others too, because it may damage the beauty of the whole place. This does sometimes
happen, but it is completely untrue to say, as some people do, that modern architecture isnothing.
We can't judge every modern building by the standards of the ancient time, even though we
admire the ancient buildings. Technologically, the modern buildings are more advanced. The
modern architect knows he should learn from the ancientworks, but with his greater resources of
knowledge and materials, he will never becontent to imitate the past. He is too proud to do that.
76. Some people hate everything that is modern because

A. they are aged
B. they find it hard to accept modern things
C. they take their standards of perfection from the Greek
D. they look at things by the standards of the past
77. The writer of the passage thinks that
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A. it is true to say artists fail in their work
B. it is untrue to say artists fail in their work
C. it is true to say some artists fail in their work
D. it is true to say only painters fail in their work
78. The writer thinks the failure of a building
A. means nothing B. concerns others
C. concerns only the artist D. concerns all the people in the world
79. The writer thinks that
A. we can't judge buildings by the ancient standards
B. we can't judge all the buildings by the ancient standards
C. we can't judge all the modern buildings by the ancient standards
D. we can't judge modern buildings
80. Technologically, the modern buildings are more advanced. The sentence means
A. the ancient architects had no technology
B. the modern architects use more advanced technology
C. the modern buildings are advanced because they are completely different from the ancient
buildings
D. the modern buildings are more beautiful

V. Writing (20 points)

Directions: For this part, you are allowed 20 minutes to write a passage of about 100 words
based on the following situation. Remember to write it clearly on ANSWER SHEET II.
Where to Live-----—-—- in the City or in the Country ?
Base your composition on the outline given below.
L S NEAEAEY T, DRSO A3 A V2 AR
2. (HA SN EAEAERAT
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MESEZHHERBEANFER

REBEWAE (2 SEEE

I . phonetics(10 points; one point each)
LA 2D 3D 4C 5D 6B 7A 8B 9.C 10C
II. Vocabulary and Structure (40 points; one point each )

11.D 12.C 13.D 14.C 15.D 16.A 17.A 18.B 19.C 20.D
21.C 22.B 23.B 24.A 25.B 26.A 27.C 28.C 29.C 30.A
31.B 32.C 33.A 34D 35.A 36.A 37.C 38.D 39.D 40.B
41.A 42.C 43.C 44.B 45.C 46.C 47.B 48.A 49.A 50.B

[I. Cloze (20 points)

51.B  52.A 53D 54C 55B 56A 57.C 58B 59D 60.C

IV. Reading Comprehension (60 points)

61.B 62.A 63D 64C 65C 66B 67.A 68D 69.A 70.A 71B
72.A 73B 74C 75B 76D 77.C 78B 79.C 80.B

V. Writing (20 points)

SEBX Where to live ------ in the City or in the Country ?

Some people like living in the city because city life has many advantages. They think there
are more job opportunities in cities, life there is more colorful and meaningful than that in the
country, and there are more modern conveniences in cities for people to enjoy. But some other
people prefer to live in the countryside. They say life in the countryside is closer to nature and
better for their health, life there is quieter and that country people are more honest than city people.
I would like to live in a city when I am young to earn enough money and I live in the countryside

when I am old for having a quite life
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MESEZHHERBEANFER
FEEMRE (2

I. Phonetics (10 points)

Directions: In each of the following groups of words, there are four underlined letters or
combinations marked A, B, C and D. Compare the underlined parts andidentify the one that
is different from the others in pronunciation. Mark your answer by blackening the
corresponding letter on ANSWER SHEET 1.

1.A. captain B. various C. Atlantic D. metallic
2.A. beach B. beat C. beast D. great
3.A. heat B. health C. already D. pleasant
4.A. waste B. paste C. voyage D. snake
5.A. fortune B. public C. Russia D. suffer
6.A. thank B. language C. friend D. anxious
7.A. thrown B. follow C. brown D. own
8.A. nineteenth B. ninth C. southern D. fifth
9.A. gold B. god C. lot D. mop
10.A. correct B. discover C. comfort D. come

II. Vocabulary and Structure (40 points)

Directions:There are 40 incomplete sentences in this section. For each sentence there are
four choices marked A, B, C and D. Choose one answer that best completes the sentence and
blacken the corresponding letter on the Answer Sheet 1.

11. The old man found on the floor.

A. lying dead B. lying death C. laying dead D. laying death
12. Grandma has no water, please some for her.

A. take B. carry C. fetch D. bring
13. The shoes he wore made his look funny.

A. feet B. foots C. hand D. foot
14. This restaurant always delicious dishes.

A. gives B. offers C. have D. serves
15. There is sugar. You needn’t go to buy any.

A. plenty of B. a large number of  C.agreat many  D. plenty
16. Hardly sat down when the telephone rang.

A.did 1 B. had I C.1 D. have |
17. The candle is still

A. lit...burned B. lighted...burning

C. lit...burning D. lighted...burned
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18. come into leaf or bloom is obviously a sign of spring.
A. Trees B. The trees C. That trees D. What trees
19. in the open air, wet clothes can get dry easily.
A. Hang B. Hanged C. Hung D. To hang
20. He doesn’t spend much time his homework.
A.in B. with C.on D. for
21. —What do you think of it?
—It just happened we had expected.
A. that B. which C.it D. as
22. Jane, what do you think of Mr. Green?
As teacher, he ought to set good example to the pupils.
A.the;a B.a; a C.a; the D./ the
23. They found a old woman on the ground when the door

was broken open.

A.dying; lying B.dead; lied

C. death; laying D. died; lain
24, , the children went to the park.

A. It was a fine day B. Being a fine day

C. It being a fine day D. Because the fine day
25. in the strange city, poor Bill fell to

A. Lost; crying B. Lost ;cry

C. Having been lost; crying D. To lese; cry
26. Don’t get off the bus until it

A. has stopped B. stopped C. will stop D. shall stop
27. 1 took tea than you.

A. less B. few C. fewer D. little
28. The squirrel was lucky that it just missed .

A. catching B. to be caught C. being caught  D. to catch
29. I must be off now. It’s time [ to school.

A. go B. went C. will go D. am going
30. To serve the people means givingas  andaskforas  as  possible.

A. much ; little B. much; few C. many; alittle D.more;
31. What we are doing good to the people.

A. are B. have been C.is D. be
32. John is of the two students.

A. cleverer B. the clever C. the cleverer D. the cleverest
33. He used to be a heavy smoker, ?

A. used he B. didn’t he C. doesn’t he D. wouldn’t he
34. Rather than , he ran all the way home.

A. walk B. walked C. walking D. to walk
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35.

36.

37.

38.

39.

40.

41.

42.

43.

45.

46.

47.

48.

49.

50.

Get to the top of hill, you can see the whole city.
A.or B. but C. and D. so
What you said sounds right. I’'m considering this job.
A. accepting B. accept C. to accept D. will accept
I came into the office, the teachers were having a meeting.
A. While B. When C. Once D. Since
Half of those books best-sellers.
A.is B. are C.am D. was
_____ Chicago is a beautiful city today, but _ Chicago of the 1920s was a very dirty place.
A. The the B./ / C.A the D./ the
he is, Tom knows a lot of things.
A. Child as B. Clever as C. Fool although D. A boy as
Is that the reason you are in favor of the proposal?
A. what B. of which C. why D. for
The train will Beijing at about half past seven.
A. arrive B. get C. reach D. reach to
Nearly everybody colds in winter.
A. suffer from B. suffers in C. suffers from D. suffer for
44, that your son is well again, you no longer have anything to worry about.
A. When B. After C. Before D. Now
We never dared to ask him a question, ?
A. did we B. didn’t we C. dared we D. daredn’t we
You seldom have to do the cooking, ?
A. have you B. haven’t you C. do you D. don’t you
no exercise-book, he had to write on a piece of paper.
A. There was B. There is C. There being D. There having
—Where the camera? I can’t see it anywhere.
—1 it right here. But now it’s gone.
A. did you put...put B. have you put...have put
C. had you put...was putting D. had you put...have put
In another year or so, you all about it.
A. would forget B. forget
C. have forgotten D. will have forgotten
—If that’s not yours, ?
—Probably John’s.
A. whose else can it be B. whose else’s can it be
C. who’s else can it be D. who else can it be
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[I. Cloze (20 points)

Directions: For each blank in the following passage, there are four choices given below and
marked A, B, C and D. Choose the one that is most suitable and mark your answer by
blackening the corresponding letter on the Answer Sheet I.

This is an old story. People tell it to children all over the world. Cinderella’s father and
mother_ 51 . She lived with her aunt. Her aunt had two daughters. All of them envied
Cinderella because she was beautiful. They made her _ 52 in the house all day long.

One day, the Prince was__ 53 . The king asked all the ladies in the land to come to a great
dance. _ 54  the dance the Prince would choose his wife.

When Cinderella heard about the dance, she wanted to go. Her aunt and the ugly sisters
laughed and said, “You can’t go.” Then they went off to the dance. Poor Cinderella sat by the fire

55 .

56 she heard a gentle voice saying, “Don’t cry, Cinderella, you shall go to the dance. I
will help you.” Cinderella _ 57 and saw a little old lady. She waved her stick at Cinderella.
Suddenly she was wearing a wonderful dress. “Now go to the dance.” said the little lady.

Cinderella enjoyed the dance very much. The Prince danced with her _ 58 . Suddenly the
clock began to strike twelve. She hurried back home. She lost one of her glass shoes _ 59 . The
next day, the Prince sent men to all parts of the country with the glass shoe.

“If anyone can wear this small shoe,” he said, “She must be the beautiful lady, and I will
marry her.” When the men brought the shoe to the ugly sisters, they both pretended _ 60  the
shoe, but their feet were big and the shoe was small. The man laughed. “Let Cinderella try.” Said
one of the men. Cinderella put the shoe on easily. Then the Prince married her, and they lived
happily ever after.

51. A. both were dead
C. were both died

. were both death
. were both dead

B
D
52.A. to do all the work B. did all the work
C. do all the work D. doing all the work
53.A. old enough to be married with ~ B. old enough to marry
C. old enough to marry with D. old enough to be married
54. A. During the night of B. At the night of
C. One the night of D. In the night of
55.A. to cry B. crying C. to be crying D. to be cried
56.A. Sudden B. All on sudden C. On sudden D. All of a sudden
57.A. looked up B. looked at C. looked for D. looked down
58.A. at that time B. at times C. all the time D. at one time
59.A. on the steps B. within the steps C. in the steps D. under the steps
60.A. to put on B. putting on C. to wear D. to have on
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IV. Reading Comprehension (60 points)

Directions: There are four reading passages in this part. Each passage is followed by five
questions. For each question there are four suggested answers marked A, B, C and D.
Choose the best answer and blacken the corresponding letter on the Answer Sheet 1.

Passage One

What’s the best way to protect a tender, green seedling from the hungry stomach of deer?
Give the seedling bad breath!

The same chemical that gives people bad breath after they have eaten garlic can save small
trees from being eaten by animals.

A kind of chemical selenium(ff), which is also found in garlic, is planted in the soil near a
young tree. The tree’s roots absorb the selenium which is then carried to the leaves.

From there the selenium is used to form a chemical called dimethyl selenide (Z%Efilifh
J)—the same chemical made in the human mouth after eating garlic. As deer wander around
looking for food, they smell the seedlings’ leaves and leave the plants alone.

The selenium is important. Why? Because each year deer eat millions of dollars’ worth of
trees seedlings.

So far, selenium has been tested only on Douglas fir (#A##) seedlings, but researchers think
they could protect fruit trees and garden plants, too.

61. When people eat garlic, .

A. they send out a horrible smell B. they are out of breath

C. they will feel sick D. it is hard for them to breathe
62. According to this passage the bad smell given off from those leaves is that of

A. selenium B. dimethyl selenide C. deer D. a young tree
63. The deer don't touch those young trees because

A. the young trees absorb garlic

B. the roots of the young trees smell like garlic

C. the young trees aren’t fit for the deer to eat

D. the leaves of the young trees smell like garlic
64. Up till the time the news was announced, this kind of chemical was used

A. all over the world B. all over the United States

C. on fruit trees and garden trees D. on Douglas fir young trees
65. The best title of this passage is

A. Hungry Deer and Young Trees

B. Why Don’t Deer Eat Young Fruit Trees

C. Plants Saved by “Bad Breath”

D. How to Protect Young Trees
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Passage Two

Hair loss is one of those things we still do not understand. Science has, of course, shown that
men are more likely than women to suffer major hair loss. Some kinds of hair loss are temporary
(ETH ), an effect of illness. In those cases we can expect the hair to grow back.

It all depends on whether the hair root is alive. If it is not, hair loss is permanent and nothing
will help.

Some daily loss of hair is a normal, healthy sign. Most people lose between 40 to 50 scalp
hairs each day.

Each of these scalp hairs grows for from two to six years and then rests. About three months
later it is pushed out by a new hair growing from the same root. This is not something that should
cause great concern.

Something else we know is that normal hair loss is seasonal, with the most hair loss occurring
in the fall.

Everyone experiences a normal cycle of loss and growth. The problem of hair loss results
when loss is greater than growth.

The main cause of hair loss in men seems to be accumulation (1 22) of a hormone (fiif /K 5%)
in the body. When that hormone reaches a certain level, the hair growing period is shortened and
hair loss is the result. This is no cure for most cases of hair loss. This, however, is not the end of
the world.

66. According to science, .
A. hair loss is a normal, healthy sign
B. man should pay special attention to hair loss
C. it’s likely that men have more problems of hair loss
D. men lose more hair than women do
67. The writer thinks
A. illness causes hair loss
B. human beings have no way to cure hair loss
C. hair loss happening in the fall is an effect of illness
D. hair loss is permanent
68. We now know that the most hair loss happening in the autumn is
A. permanent B. healthy sign C. seasonal D. nothing serious
69. The sentence “This, however, is not the end of the world” means
A. man is sure to find the best way of curing his hair loss in the future
B. the writer believes the earth exists for ever
C. we can’t destroy the world by any means
D. the last day will never come to our people
70. The best title for the passage may be
A. Loss or Growth B. Hair Loss
C. Healthy Sign D. Change with Seasons
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Passage Three

On the morning of November 18, 1755, an earthquake shook Boston, Massachusetts. John
Winthrop, a professor at Harvard College, felt the quake and awoke. “I rose,” Winthrop wrote,
“and lighted a candle, looked on my watch, and found it was 15 minutes after four.” John
Winthrop went downstairs to the grandfather clock. It had stopped four minutes before, at 4:11.
Except for stopping the clock, the quake had only thrown a key from the mantel (5447 £5) to the floor.

The clock had stopped because Winthrop had put some long glass tubes he was using for an
experiment into the case for care. The quake had knocked the tubes over and blocked the
pendulum (£/1#%). Winthrop, therefore, had the exact time that the earthquake had hit Boston. He
looked at the key on the floor. The quake had thrown it forward in the direction of the quake’s
motion (JZ2/]) by a shock coming from the northwest, perhaps in Canada.

71. The text proves that
A. the power of nature is terrible
B. earthquakes happen most often during nighttime hours
C. the direction of an earthquake can be discovered
D. universities study the cause of earthquakes
72. The text suggests that .
A. Boston was badly destroyed B. earthquakes are common in Boston
C. John Winthrop had difficulty sleeping D. John Winthrop was a scientist
73. Which of the following is true? .
A. Some tubes were broken into pieces and stopped the old clock
B. The professor lit a candle because of power failure
C. Boston is in the southeast of Canada
D. The shocks were slight in one way
74. The earthquake happened
A. several minutes before the professor awoke
B. and the professor awoke at 4:15
C. in the centre of Boston
D. when John Winthrop felt it
75. Choose the right order according to the text.
a. The bed was shaking and John Winthrop awoke.
b. John Winthrop looked attentively at this watch.
c¢. John Winthrop got up to light a candle.
d. The earthquake happened in Boston in 1755.
e. John Winthrop knew the quake’s direction.
f. John Winthrop knew the exact quake’s time.
g. John Winthrop looked at the key on the floor.
A.g,d,e a,c,b f B.d,a,c,b,f, g e
C.a,e,d,c,b,f, g D.e,d, g, b,c,a,f
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Passage Four

Oceanography has been defined as “The application of all sciences to the study of the sea”.

Before the nineteenth century scientists with an interest in the sea were few and far between.
Certainly Newton considered some theoretical aspects of it in his writings, but he was reluctant to
go to sea to further his work.

For most people the sea was remote, and with the exception of early intercontinental travelers
or others who earned a living from the sea, there was little reason to ask many questions about it,
let alone to ask what lay beneath the surface. The first time that the question “What is at the
bottom of the oceans?” had to be answered with any commercial consequence was when the
laying of a telegraph cable from Europe to America was proposed. The engineer had to know the
depth profile (FL K JEIR) of the route to estimate the length of cable that had to be manufactured.

It was to Maury of the US Navy that the Atlantic Telegraph Company turned, in 1853, for
information on this matter. In the 1840s, Maury had been responsible for encouraging voyages
during which soundings (M7K¥K) were taken to investigate the depths of the North Atlantic and
Pacific Oceans. Later, some of his findings aroused much popular interest in his book The
Physical Geography of the Sea.

The cable was laid, but not until 1866 was the connection made permanent and reliable. At
the early attempts, the cable failed and when it was taken out for repairs it was found to be
covered in living growths, a fact which defied contemporary scientific opinion that there was no
life in deeper parts of the sea.

Within a few years oceanography was under way. In 1872 Thomson led a scientific
expedition (*5%%), which lasted for four years and brought home thousands of samples from the
sea. Their classification and analysis occupied scientists for years and led to five-volume report,
the last volume being published in 1895.

76. The proposal to lay a telegraph cable from Europe to America made oceanographic studies

take on
A. an academic aspect B. a military aspect
C. business aspect D. an international aspect
77. It was that asked Maury for help in oceanographic studies.

A. the American Navy
B. some early intercontinental travelers
C. those who earned a living from the sea
D. the company which proposed to lay an undersea cable
78. The aim of the voyages Maury was responsible for in the 1840s was
A. to make some sounding experiments in the oceans
B. to collect samples of sea plants and animals
C. to estimate the length of cable that was needed
D. to measure the depths of the two oceans

79. “Defied” in the 5th paragraph probably means “
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A. doubted B. gave proof to C. challenged D. agreed to
80. This passage is mainly about

A. the beginnings of oceanography

B. the laying of the first undersea cable

C. the investigation of ocean depths

D. the early intercontinental communications

V. Writing (20 points)

Directions: For this part, you are allowed 20 minutes to write a letter of about 100 words
based on the following situation. Remember to write it clearly on ANSWER I
PRI, B4 Jefforson S5/, BRI AL A0 VR URTE R JLt 30 R UR AR HE45
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MBS EFEFHHEFREANFER
REBEEIRE (2) SEER
I . phonetics(10 points; one point each)

1. B 2.D 3. A 4. C 5. A 6.C 7.C 8 C 9. A 10. A

II. Vocabulary and Structure(40 points; one point each )

11. A 12. C 13. A 14. D 15. A 16. B 17. B 18. C
19. C 20. C 21. D 22. B 23. A 24. C 25. A 26. A
27. A 28. C 29. B 30. A 31. C 32. C 33. B 34. A
35. C 36. A 37. B 38. B 39. D 40. A 41. C 42. C
43. C 44. D 45. A 46. C 47. C 48. A 49. D 50. A

[I. Cloze(20 points)

51. D 52. C 53. B 54. C 55.B 56.D 57. A
58. C 59. A 60. A

IV. Reading Comprehension (60 points)

61. A 62. B 63. D 64. D 65. C 66. C 67. B
68. C 69. A 70. B 71. C 72. D 73. D 74. A
75. B 76. C 77. D 78. D 79. C 80. A

V. Writing (20 points)

SEEXL June 22, 2008 Dear Mr. Jefferson,

I am writing to thank you for allowing me to spend Christmas with you and for the warm
treatment that you gave me.

The room was comfortable and beautifully decorated, and the food was very delicious . The
visits to the Radio and TV Tower and the Museum of Natural History were really wonderful.
These attractions have helped to broaden my horizons and enrich my experiences . I enjoyed them
very much.

Thank you very much again.

Yours,

Wang ping
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Kt AURAE B AE S0 S B TR

=. XRFEIR
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1. g3
DA A R IA T 2, 6 R [a) s R 3K B B VR B 1) SO 308 30, RS
R B WIE =T R AR EE A K SR AR, oA
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